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BRES. 2E5Y L—R IG5 BAR
# 9. EFA. R, - tiE EEH E 258 Ty
1. % B © @ ® @ ® ©® @ ® # % BE  bAY BE BIE b4y
fix 70 5 5 911151312 0 O 7.1 14.2 27.1 0| 3.39 3.445| 3.44 4.61 3.522
1906 (MN—H£%) 46 2 2 3 9 11 10 9 0 0 4.3 8.6 15.2 0 3.39 3.445 3.43 4.97 3.509
(zofti—H%) 24 3 3 6 2 4 3 3 0 O 12.5 25.0 50.0, 0| 3.43 3.500| 3.47 3.91 3.547
11 B B 0 @oftes) - :
nma 12 0 1 0 0 2 3 4 2 0 0.0 8.3 8.3 0| 3.40 3.494| 3.43 6.16 3.515
frix 19HA BB
637% SEA 14 0 0 2 2 1 1 5 3 0 0.0 0.0 14.2| 0 3.43 3.506/ 3.44 6.00 3.527
LLB5 7 0 0 0 1 1 5 0 0 O 0.0 0.0 0.0/ 0| 3.42 3.481| 3.43 5.57 3.502
fix 79 910 1311121311 0 0 11.3 24.0 40.5 0 3.34 3.421  3.41 4.13 3.494
2615 (MN—H#%) 54 8 8 8 8 7 9 6 0 0 14.8 29.6 44.4 0 3.34 3.421 3.40 3.90 3.475
(ZOAfth—H%) 23 1 2 4 3 5 4 4 0 0 4.3 13.0 30.4 0 3.40 3.458 3.44 4.60 3.537
2 Rl 5 | 10| @oftes) 2 0 0 1 0 0 0 1 0 O 0.0 0.0 50.00 0/ 343  3.500f 343 500  3.505
nma 24 3 4 1 3 7 0 3 3 0/ 125 29.1 33.3] 0 3.36 3.424| 3.40 4.41 3.477
frix 265A RERIG 4 0 0 1 1 0 2 0 0 O 0.0 0.0 25.0| 0| 3.37 3.449| 3.40 4.75 3.480
495% SRAR 10 1 0 2 0 1 0 4 2 0| 10.0 10.0 30.0/ O/ 3.36 3.447| 3.38 5.60 3.479
L5 3 0 01 0 0 2 00 O 0.0 0.0 33.3] 0 3.40 3.469 3.41 5.00 3.503
ARz 58 13 9 9 7 9 7 2 2 0 224 379 53.4| 0 3.27 3.390 3.37 3.50 3.463
2720 (MN—£%) 35 11 5 7 3 6 3 0 0 0 31.4 45.7 65.7 0 3.27 3.390 3.36 2.91 3.448
(ZOAft—H%) 18 2 3 2 4 3 2 2 0 0 11.1 27.7 38.8 0 3.33 3.431 3.40 3.94 3.495
¥ = 5 |20 ®ofte#®%) 5 0o 1 0 0 0 2 0 2 0 0.0 20.0 200/ 0| 331 3439 335 600 3459
nma 17 11 3 1 3 2 5 1 0 58 11.7 29.4 0| 3.30 3.393| 3.35 5.05 3.448
fRix 27HA FRERIS 8 1 2 0 0 1 2 1 1 0 125 375 37.5 0| 3.31 3.403| 3.33 4.62 3.440
455% SRAR 4 0 0 1 1 0 2 0 0 O 0.0 0.0 25.0/ 0| 3.37 3.476| 3.39 4.75 3.496
LIS 17 0 2 1 7 2 1 4 0 O 0.0 11.7 17.6/ 0| 3.30 3.381| 3.35 4.64 3.433
ARis 43 81110 3 2 2 4 3 0 18.6 44.1 67.4 1| 3.31 3.413 3.37 3.39 3.478
3604 (MN—£%) 27 7 9 7 1 1 1 1 0 0 25.9 59.2 85.1 1 3.31 3.413 3.35 2.51 3.454
(ZOAft—H%) 16 1 2 3 2 1 1 3 3 0 6.2 18.7 37.5 0 3.39 3.481 3.41 4.87 3.520
) REF B 30 owow - - :
na 9 1 0 1 1 1 0 3 2 0 11.1 11.1 22.2| 0| 3.34 3.465 3.37 5.55 3.491
ARt 365A FRERIG 3 1.1 0 0 0 1 0O O 0O 333 66,6 66.6/ 0 3.33 3.462| 3.35 3.00 3.470
257% SRR 3 0 0 00O 0 O0 2 10 0.0 0.0 0.0/ 0| 3.37 3.490| 3.38 7.33 3.499
L5 7 1 1 2 2 0 1 0 0 0/ 142 285 57.1| 1| 3.31 3.416| 3.36 3.28 3.460
ARz 4 1 1 0 0 0 0 2 0 O 25.0 50.0 50.00 0 3.34 3.431| 3.36 4.25 3.466
3112 (MN—HZ)|---
(Db —H%) 1 0 0 0 0 0 0 1 0 0 0.0 0.0 0.0 0 3.39 3.500 3.39 7.00 3.500
5 IR JERT 30 (ot 31 1 0 0 0 0 1 0 O 33.3 66.6 66.6 0| 3.34  3.431 335 333  3.454
na 6 0 2 0 0 2 0 0 1 1 0.0 33.3 33.3] 0| 3.32 3.412| 3.37 4.40 3.472
AR 31EA FRERIG 9 0 2 0 3 2 2 0 0 0 0.0 22.2 222/ 0| 3.29 3.402| 3.35 4.22 3.447
45i% SRAR 8 18 10 1510 11 8 7 5 0| 214 333 51.1 0| 3.29 3.376/ 3.35 3.75 3.445
L5 23 6 5 4 4 0 1 2 1 0 260 47.8 652 0 3.29 3.377| 3.33 3.13 3.421
fRix 44 18 5 6 4 9 2 0 0 0| 409 52.2 659 1 3.29 3.363| 3.35 2.70 3.440
2908 (MN—fi%) 18 14 2 1 0 1 0 0 0 0 77.7 88.8 94.4 1 3.29 3.363 3.32 1.44 3.413
(ZDAh—H%) 17 4 3 3 3 3 1 0 0 0 23.5 41.1 58.8 0 3.34 3.428 3.39 3.05 3.477
ﬁﬁ, ﬁm 40 (ROAhGER) 9 0 0 2 1 5 1 0 0 O 0.0 0.0 22.2| 0| 3.29 3.394| 3.33  4.55 3.426
na 21. 6 3 2 3 3 1 1 1 1| 285 428 523 0 3.29 3.369 3.34 3.30 3.429
frix 29HA ARG 8 1 2 1 2 0 2 0 0 0 125 375 50.0 1| 3.30 3.381 3.34 3.50 3.430
415% SRAR 27 2 6 4 5 2 5 2 1 0 7.4 29.6 44.4) 0| 3.29 3.383| 3.32 4.00 3.410
LLB5 29 7 7 3 7 2 1 2 0 0 241 48.2 586 0 3.27 3.370| 3.33 3.03 3.411
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EREES. £EHSY
# 7. EFE. R, # = 1% 2% 3% BB B= i
#. FE5 ® @ ® @ ® ® @ [ & PO g NE RBH HE EHNYV O HE O FE 2 EHV
ARix 16 0 0 3 2 45 2 00 0.0 0.0 18.7 O© 5.06
1906 (MN—%) 11 0 O0 1 2 2 4 2 0 0 0.0 0.0 9.0, 0 5.36
(Z0A—AE) 5 0 0 2 0 2 1 0 0 O 0.0 0.0 400 © 4.40
ne
fRix 195A FRERIZ
637% SR 4 1 1 1 0 0 1 0 0 0 250 500 750 O 3.00
LIRS 7 0 0 2 1 0 4 0 0 0 0.0 0.0 285 0 4.85
ARix 20 1 2 3 27 3 200 50 15.0 30.0 O 4.45
2615 (MN—%) 13 1 1 1 2 5 2 1 0 0 7.6 15.3 2300 0 4.46
(Z0A—AE) 4 0 1 1 0 1 1 0 0 0 0.0 25.0 50.0/ 0 4.00
A HE S 10 ®ofte#®)| 3 0o 0o 1 0 1 0 1 0 0 0.0 0.0 333 0 5.00
na 4 2 0 2 0 0 0 0 O 50.0 50.0 100.0f O 2.00
kX 265A FRERIE
497% JEAR 4 0 2 1 0 O 1 0 0 O 0.0 50.0 75.00 O 3.25
LB 4 0 1 0 1 0 2 0 0 O 0.0 25.0 25.00 O 4.50
AR 13 1 4 2 2 2 1 0 1 0 7.6 384 538 O 3.61
2720 (MN—#%) 6 1 1 1 2 1 0 0 0 0O 16.6 33.3 50.0/ 0 3.16
(ZOAt—H%) 3 0 1 1 0 1 0 0 0 O 0.0 33.3 66.6] 0 3.33
3 =Y > 20| (oG 4 0 2 0 0 0 1 0 1 O 0.0 50.0 50.0, O 4.50
ne
fRix 275A {FERIZ i1 1 0 0 0 O 0O O O O 100.0 100.0 100.0, O 1.00
457% JEAR 1 0 0 O 1 0 0O 0o 0 o 0.0 0.0 0.0 O 4.00
LB 9 2 2 2 1 1 1 0 0 O 22.2 44 .4 66.6| 0 3.00
ARis 6 2 1 0 3 00 0 O O 333 500 500 O 2.66
3604 (MN—#%) 5 2 1 0 2 0 0 0 0 O 40.0 60.0 60.0, 0 2.40
(Z0At—HE) 1 0 0 O 1 0 O O 0O O 0.0 0.0 00/ 0 4.00
Ne 1 0 0 O 1 0 0O 0o O o 0.0 0.0 0.0 O 4.00
BRIk 36HA FRERIE
25i% JEAR 1 0 0 O O O o 1 0 o 0.0 0.0 0.0 O 7.00
LLIB& 3 2 0 1 0 O O 0o 0 O 66.6 66.6 100.0 O 1.66
ARis 3 01 0100O0T10O0 0.0 33.3 333 O 4.66
3112 (MN—#Z)|---
(ZOAt—A%) 1 0 1 0 O O O O 0 O 0.0 1000  100.0| O 2.00
5 IR JERT 30 (ot 2 0 0 0 1 0 0 0 1 0 0.0 0.0 0.0 0 6.00
ne
AR 31EA FRERIE
457% AR 9 2 1 2 1 2 1 0 0 0 222 333 555 0 3.33
LLIB& 7 0 5 1 0 1 0 0 O O 0.0 71.4 85.7, O 2.57
ARi5 19 5 3 51 3 1 1 0 0 263 42.1 68.4 0 3.05
2908 (MN—#%) 11 4 2 3 1 1 0 0 0 O© 36.3 54.5 81.8| 0 2.36
(ZOAt—A%) 4 0 0 2 0 1 0 1 0 0 0.0 0.0 50.0, 0 4.50
SR &% 40 @oftew) 4 1 1 0 0O 1 1 0 0 O 25.0 50.0 50.0/ O 3.50
Ne 5 1 0 1 3 0 0 0 0 o 20.0 20.0 40.0/ O 3.20
ERix 29HA RERIZ 3 0 2 00 1 0 00O 0.0 66.6 66.6 0 3.00
41% SR 4 0 0 2 1 1 0 O O O 0.0 0.0 50.00 O 3.75
L= 6 2 1 0 1 1 1 0 0 O 33.3 50.0 50.00 O 3.16
1

NEIEIRFEREBZERVTHE, FFICHEOFOFRITEFHEOESRANYT




L—R155 BHER Ri—&
(EFTERBOBEIE, Ik, R, RE. SIEBERIR

* 8 L—-R FiEt REFE (24:30)
SRES. 2ESY L—R 53 iR
B V. BF4. B ¥ T 15 25 iy
R, £in ® @ @ ® ® @ L4 Xt #sE LAY BE #BIE
i 9 0 0 1122 3 00 0.0 0.0 11.1 O 5.55
1906 (MN—#%) 5 0 0 0 0 1 1 3 0 0O 0.0 0.0 0.0 o0 6.40
(ZOAt—H%) 4 0 0 1 1 1 1 0 0 O 0.0 0.0 25.0/ 0 4.50
nme 2 0 0 1 0 0 0 1 0 O 0.0 0.0 50.0/ O 5.00
BRIz 195A R
637% PEZIN 3 0 0 0 0 O 3 0 0 O 0.0 0.0 0.0/ O 6.00
LLIFS
i 6 0 3 1011000 0.0 50.0 66.6 0 3.33
2615 (MN—#%) 4 0 2 1 0 0 1 0 0 O 0.0 50.0 75.0] 0 3.25
(ZOAt—HE) 2 0 1 0 0 Tt 0 0 0 O 0.0 50.0 50.0 © 3.50
nme 3 0 0 1 0 1 0 1 0 O 0.0 0.0 33.3] O 5.00
BRIz 2658 RS
497% PETIN 2 1 0 1 0 0 0 0 0 O 50.0 50.0 100.0/ O 2.00
LLIFS
i 7 1 0 1 2 1 1 1 0 0 14.2 14.2 285 O 4.28
2720 (MN—#%) 3 0 0 1 0 0 1 1 0 O 0.0 0.0 333 0 5.33
(ZOAt—HE) 1 1 0 0 0O 0O O O 0 O0f 1000 100.0 100.0, O 1.00
M BSM 5 200 oftg®)| 3 o 0o 0 2 1 0 0 0 0 0.0 0.0 00/ © 4.33
ne 3 0 0 01 2 0O O O O 0.0 0.0 0.0/ O 4.66
ERiz 27HA RS
45i% PRY N
LB 4 0 0 1 2 1 0 O O O 0.0 0.0 25.00 O 4.00
ARt 6 2 3 00 O 1 0 O O 333 833 833 0 2.33
3604 (MN—#%) 4 1 2 0 0 0 1 0 0 O 25.0 75.0 75.0] 0 2.75
(ZOAt—HE) 2 1 1 0 0 0 0 0 0 O 50.0  100.0  100.0, O 1.50
ne 1 0 0 1 0 0 0O O 0 O 0.0 0.0 100.0/ O 3.00
ERIx 36HH RS
25i% PREN
LLIE5 1 0 0 0 0 01 0 O O 0.0 0.0 0.0/ O 6.00
AR 1 0 01 00 0 0O OO 0.0 0.0 100.0 O 3.00
3112 (MN—#g) |-
(ROt —HE) 1 0 0 1 0 0 0O O 0 O 0.0 0.0  100.0, 0 3.00
ne 1 0 0 1 0 0 0O O 0 O 0.0 0.0 100.0/ O 3.00
AR 31HA RS
45i% REZIN 3 0 0 1 1 1 0 O O O 0.0 0.0 33.3] O 4.00
LLIE5 3 1.1 1 0 0O O O 0 O 33.3 66.6 100.0/ O 2.00
AR 310 02 00O0O0 O 333 333 333 0 3.00
2908 (MN—#&) 2 1 0 0 1 0 0 0 0 O 50.0 50.0 50.0 © 2.50
SR 8% 40| ofte%) 1 0o 0 0 1 0 0 0 0 0 0.0 0.0 00/ 0 4.00
na 1 0 0 0 0 0O O1 0O O 0.0 0.0 0.0/ O 7.00
BRIx 29HH RS
417% REZIN 1 0 0 1 0 0O 0O O 0 O 0.0 0.0 100.0/ O 3.00
LL1B5 4 0 0 3 0 1 0 O 0 O 0.0 0.0 75.00 0 3.50
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